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DipIETE – ET jOLD SCHEMEk
 

CRGH: DE16                                                                  SXEMHFW: INDUSTRIAL ENGINEERING
TLPH: 3 HRXUV                                                                                                     MD[. MDUNV: 100

 

NOTE: TKHUH DUH 9 QXHVWLRQV LQ DOO.

x      QXHVWLRQ 1 LV FRPSXOVRU\ DQG FDUULHV 20 PDUNV. AQVZHU WR Q. 1. PXVW EH ZULWWHQ LQ WKH VSDFH SURYLGHG IRU LW LQ WKH

DQVZHU ERRN VXSSOLHG DQG QRZKHUH HOVH.

x      OXW RI WKH UHPDLQLQJ EIGHT QXHVWLRQV DQVZHU DQ\ FIVE QXHVWLRQV. EDFK TXHVWLRQ FDUULHV 16 PDUNV.

x      AQ\ UHTXLUHG GDWD QRW H[SOLFLWO\ JLYHQ, PD\ EH VXLWDEO\ DVVXPHG DQG VWDWHG.
 

 

Q.1       CKRRVH WKH FRUUHFW RU WKH EHVW DOWHUQDWLYH LQ WKH IROORZLQJ:                                  (2 10)
                

      a.     The fiUVW Ph.D. gUaQWed iQ Whe USA iQ Whe fieOd Rf IQdXVWUiaO EQgiQeeUiQg ZaV Whe UeVXOW Rf UeVeaUch dRQe iQ Whe aUea Rf
 

             (A) TiPe VWXd\                                          (B) MRWiRQ VWXd\

             (C) FaWigXe VWXd\                                       (D) WRUN VWXd\

       
     b.     The efficieQc\ Rf a PachiQe =
 

             (A) The UaWiR Rf RXWSXW WR iQSXW iV gUeaWeU WhaQ eTXaO WR 1                                                          
             (B) The UaWiR Rf RXWSXW WR iQSXW iV OeVV WhaQ eTXaO WR 1

             (C) The UaWiR Rf RXWSXW WR iQSXW iV eTXaO WR 1

             (D) The UaWiR Rf RXWSXW WR iQSXW iV gUeaWeU WhaQ 1

       
      c.     SWaWiVWicaO fRUecaVWiQg iV baVed RQ __________
 

(A) PUeVeQW daWa.                                       (B) PaVW daWa.

            (C) FXWXUe daWa.                                         (D) PaVW & PUeVeQW daWa.

       
     d.     The SXUSRVe Rf C-chaUW iV WR fiQd
 

(A)   NXPbeU Rf defecWV SeU XQiW fRU VaPSOe Rf cRQVWaQW Vi]e.                                                     

(B) NXPbeU Rf QRQ cRQfRUPiWieV SeU XQiW fRU a VaPSOe Rf QRW cRQVWaQW Vi]e.

             (C) NXPbeU Rf XQiWV QRQ-cRQfRUPiQg.         

             (D) PURSRUWiRQ Rf XQiWV QRQ-cRQfRUPiQg.

       

      e.     MRWiYaWiRQ iV aQ eOePeQW Rf
 

             (A) POaQQiQg fXQcWiRQ                                 (B) OUgaQi]aWiRQ fXQcWiRQ

             (C) CRQWURO fXQcWiRQ                                   (D) DiUecWiRQ fXQcWiRQ

       

      f.     LiQeaU SURgUaPPiQg ideQWifieV
 

             (A) Whe RSWiPXP TXaQWiW\ Rf YaUiabOeV         

             (B) Whe Pa[iPXP SURfiW RU PiQiPXP cRVW WhaW caQ be e[SecWed

             (C) bRWh (A) aQd (B)                                 

             (D) NRQe Rf Whe abRYe

       
 

 

 
      g.     SigQificaQce WeVWiQg caQ cRQVideU Whe YaUiaWiRQV  
 

             (A) TeVWiQg WZR UaQdRP VaPSOeV aV UegaUd WheiU VaPSOe PeaQV.
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             (B) Testing a random sample mean against a lot mean.

             (C) Testing sample means of two samples of existing process and modified process.               
             (D) All of above.
 

      h.     Productivity improvement implies
 

             (A) a more efficient use of resources         

             (B) less waste per unit of input supplied

             (C) higher levels of output for fixed levels of input supplied                                                       

             (D) All of the above

       
       i.     The method that uses algebraic equations
 

             (A) Graphical technique                              (B) Simplex method

             (C) Both of the above                                (D) None of the above

       

      j.     If µF¶ is fixed cost, ¶V¶ is total variable cost and µP¶ selling price of each unit, then Breakeven point =
 

             (A)                                              (B) 

             (C)                                              (D) 
 

 

Answer an\ FIVE Questions out of EIGHT Questions.

Each question carries 16 marks.
 

 

  Q.2     a.   Identify the factors contributed to the development of Industrial Engineering.          (6)

 

             b.   What do you understand by production? Also state the factors of production.         (4)

 
             c.   Enlist the different types of productivity measures.                                                (6)

 

  Q.3     a.   Describe the steps involved in developing a product.                                           (6)

 

             b.   Explain Heuristic method of line balancing?                                                         (5)

 
             c.   Explain the merits & demerits of urban plant sites over rural plant sites.                (5)

 

  Q.4     a.   Differentiate between ISO-9000 and TQM.                                                         (5)

 

             b.   What is Zero Defect concept?  Describe the steps in implementing Zero Defect programme.             (6)

 
             c.   Find Mean, Median, Mode for the data set of patients treated on 8 consecutive days.                     (5)

                  

Day No. 1 2 3 4 5 6 7 8

No. of Patients

treated

86 52 49 42 35 31 30 11

 

 

  Q.5     a.   What do you understand by corrective maintenance?  State the reasons for equipment breakdown.    

                                                           (4)

 

b.      What are objectives of preventive maintenance?                                                   (4)          
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F.       CRPSDUH AQQXDO CRVW PHWKRG DQG RDWH RI RHWXUQ PHWKRG LQ VHOHFWLQJ DOWHUQDWLYHV.               (8)

         
  4.6     D.  E[SODLQ WKH GLIIHUHQW PRWLYDWLRQ WKHRULHV.                                                              (8)

 

E.      SWDWH WKH VLJQLILFDQFH RI JULHYDQFHV UHGUHVVDO SURFHGXUH.                                      (4)

 

F.       WKDW GR \RX XQGHUVWDQG E\ MRP?  E[SODLQ SULPDU\ RXWSXW RI MRP.                    (4)
       

  4.7     D.  WKDW LV PERT DQG CPM? HRZ WKH\ GLIIHU IURP HDFK RWKHU?                                 (6)

 

             E.   SWDWH WKH GLIIHUHQW DSSOLFDWLRQV RI QHWZRUN WHFKQLTXHV.                                          (4)

 

             F.   WKDW DUH WKH REMHFWLYHV RI JRE EYDOXDWLRQ?  AOVR VWDWH LWV OLPLWDWLRQV.                     (6)

 

  4.8     D.   A FRPSDQ\ SURGXFHV WZR SURGXFWV, A DQG B, DQG KDV D WRWDO SURGXFWLRQ FDSDFLW\ RI 9 XQLWV SHU GD\, A DQG B

UHTXLULQJ WKH VDPH SURGXFWLRQ FDSDFLW\.  TKH FRPSDQ\ KDV D SHUPDQHQW FRQWUDFW WR VXSSO\ 2 XQLWV RI A DQG DW OHDVW

3 XQLWV RI B SHU GD\ WR DQRWKHU FRPSDQ\.  EDFK XQLW RI A UHTXLUHV 20 PDFKLQH KRXUV SURGXFWLRQ WLPH DQG HDFK XQLW

RI B UHTXLUHV 50 PDFKLQH KRXUV RI SURGXFWLRQ WLPH.  TKH GDLO\ PD[LPXP SRVVLEOH QXPEHU RI PDFKLQH KRXUV LV 360. 

TKH FRPSDQ\ PDNHV D SURILW RI RV.80 SHU XQLW RI A DQG RV.120 SHU XQLW RI B. IW LV UHTXLUHG WR GHWHUPLQH WKH
SURGXFWLRQ VFKHGXOH IRU PD[LPXP SURILW.                                    (5)

 

             E.   SWDWH WKH TXDOLWLHV RI JRRG LQIRUPDWLRQ. (3)

 

             F.   WKDW LV PXOWLSOH DFWLYLW\ FKDUW? HRZ LW LV FRQVWUXFWHG DQG DQDO\]HG. AOVR VWDWHV LWV DSSOLFDWLRQV.         
                                                           (8)

       

  4.9     D.   2500 REVHUYDWLRQV ZHUH FRQGXFWHG DQG LW ZDV IRXQG WKDW WKH DFWLYLW\ XQGHU VWXG\ RFFXUUHG 1200 WLPHV. DHWHUPLQH WKH

OLPLWV RI DFFXUDF\ DQG OLPLWV RI HUURU.                                                             (5)

 

             E.   DUDZ D GLDJUDP GHWHUPLQLQJ WKH EOQ EDVHG RQ WKH IDFW WKDW LW LV WKH SRLQW ZKHUH WRWDO FRVWV DUH WKH

PLQLPXP.                                                                                                                         (5)

 

             F.   WKDW DUH WKH REMHFWLYHV RI PDWHULDO PDQDJHPHQW?                                                (6)

 


